
SAP ABAP table RJVSIVTZUO {IS-M: Int.Str.for Assignment of Delivery to AI SLine}

RJVSIVTZUO

MANDT [CLNT (3)]

LFNGNR [NUMC (12)]

AVM_NR [CHAR (10)]

POS_NR [NUMC (3)]

JHAK

MANDT [CLNT (3)]

AVM_NR [CHAR (10)] RJVSIVTZUO-AVM_NR = JHAK-AVM_NR 0..N

1

JHAP

MANDT [CLNT (3)]

AVM_NR [CHAR (10)]

POS_NR [NUMC (3)]

 RJVSIVTZUO-POS_NR = JHAP-POS_NR 
0..N

1

JVTLFNG

MANDT [CLNT (3)]

LFNGNR [NUMC (12)]

NACHLFNGNR [NUMC (2)]

 RJVSIVTZUO-LFNGNR = JVTLFNG-LFNGNR 

0..N

0..N

T000

MANDT [CLNT (3)]

 RJVSIVTZUO-MANDT = T000-MANDT 

0..N

0..N


